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(1) 81 + 34 = (2) 37 + 491 =

g |
+ 3 4

(3) 92 + 713 = (4) 56 + 50 =

(5) 70 + 58 = (6) 61 + 56 =

(7) 84 + 94 = (8) 70 + 81 =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
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(1) 26 + 85 = (2) 47 + 96 =
2 6
+ 8 5
(3) 61 + 89 = (4) 55 + 77 =
(5) 19 + 93 = (6) 36 + 98 =
(7) 76 + 69 = (8) 48 + 62 =
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(1) 56 + 44 = 2 81 + 19 =

5 6

+ 4 4
(3) 32 + 68 = (4) 25 + 75 =
(5) 47 + 53 = (6) 14 + 86 =
(7) 713 + 27 = (8) 55 + 45 =
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(1) 147 — 62 = (2) 326 — 74 =
|4 7
- 6 2

(3) 754 — 91 = (4) 218 — 32 =

(5) 530 — 40 = (6) 119 — 97 =

(7) 826 — 75 = (8) 408 — 53 =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
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(1) 126 — 68 = (2) 521 — 34 =

I 2 6
- 6 8
(3) 285 — 87 = (4) 242 — 79 =

(5) 810 — 57 = (6) 951 — 66 =

(7) 364 — 85 = (8) 150 —84 =
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(1) 206 — 48 = (2) 502 — 97 =
2 0 6
- 4 8

(3) 105 — 19 = (4) 304 — 55 =

(5) 702 — 76 = (6) 401 — 29 =

(7) 107 — 89 = (8) 405 — 57 =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
(http://mameppu.com/)



